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mEARE miEs MEAE s | | T p T EREMEMO
dtimE ALIRAILR ERALIRED —IRBE 12 0.013| ( 0.004 ) ~ 0.034
JtimE AR AL X ERRE —HRIRE 12 0.040[ ( < 0.008 ) ~ 0.10
dtimE FIRHRX ARErys— —HRIREE 12 0.060[ ( < 0.008 ) ~ 0.23
dtimiE TN T B HAER —RIRE 12 0.030] ( 0.006 ) ~ 0.10
dtigaE N BB —HRIREE 12 0.025] ( 0.004 ) ~ 0.085
dtimiE TN T ENEE] —RRE 12 0.037] ( 0.005 ) ~ 0.16
deimE Frkth BOEAIER — IR 12 0.10 0.041 ~ 0.26
FHRE HHEM RINER D —RRE 12 0.14] ( 0.043 ) ~ 0.22
AR NaE INFINERB —RIRE 12 0.017] ( < 0.006 ) ~ 0.048
AEFR BERE BEHERB —RIRE 12 0.014] ( < 0.005 ) ~ 0.046
EFR B &R —HRIREE 12 (0012)] ( < 0.005 ) ~ ( 0018 )
AEFR K™ REIETR —RRE 12 0.019] ( < 0.006 ) ~ 0.042
EFR EAH Jt EHSERD — RIS 12 0.016)] ( 0.006 ) ~ 0.036
EFR == ER —RRE 12 0.013)] ( 0.007 ) ~ ( 0.025 )
EHE & mERFX RE D — RS 12 0.024] ( < 0.008 ) ~ 0.064
=R TP SolE) KARERTE —RIRE 12 0.062] ( < 0.004 ) ~ 0.19
BEHE i3 FH 2R i A BT EREER —HRIRE 12 0.0087| ( < 0.006 ) ~ 0.028
MEE REETH REER —RRE 12 0.015] ( 0.008 ) ~ 0.026
EHE PR B —RIRE 12 0.012] ( 0.005 ) ~ 0.019
I SEET EREER —RRE 12 0.017)] ( 0.011 ) ~ 0.031
LR AL E3oBtt) —RREE 12 0.034 0.020 ~ 0.066
BER EiE AN —RIRE 12 0.019)] ¢ < 0.005 ) ~ ( 0.062 )
‘ER LWhETh BLE —RIRE 12 0.047 0.017 ~ 0.14
E3T] KEH KERIB —RIRE 12 0.038] ( < 0.011 ) ~ 0.11
P35 Bz ERES —RIRE 12 0.024| ( < 0011 ) ~ 0.064
E3T] i TIHRER —RRE 12 0.039] ( < 0.011 ) ~ 0.13
B3 L BEIBF I (Al ) —BEE 12 0.055] ( < 0011 )  ~ 0.25
WmARE FEET FNER —RRE 12 0.027)] ( < 0.003 ) ~ 0.060
WAR WmAT KEFTE —RIRE 12 0.055] ( < 0012 ) ~ 0.13
mARE RHEERT WARETIRATE —RRE 12 0.044] ( < 0012 ) ~ 0.13
BER AIHE™ EiteE1a] —HRIREE 12 0018)] ( < 0.03 ) ~ ( 0.05 )
BER g™ FEARE —RIRE 2 0.015)] ( < 0.03 ) ~ (< 0.03 )
BER T 4 —HRIREE 2 0.028)] ( < 0.03 ) ~ ( 0.04 )
BER AHET AE—EB —RRE 6 0.056] ( < 0.003 ) ~ 0.17
BER BET BE—EB —RIRE 5 0.013] ( < 0.003 ) ~ 0.047
BER EIE EINE1—RB —RIRE 6 0.026] ( < 0.003 ) ~ 0.058
HER R RPFE1—MBB —RIRE 6 0.027| ( < 0.003 ) ~ 0.10
BHER SNVEFMAER ERAER —RIRE 12 0.047] ( < 0.018 ) ~ 0.17
BER SNVEFEFHRER KERERH —HRIREE 12 0.049] ( < 0018 ) ~ 0.16
BHER SWVEFTHRRK RERFHREIA— —RRE 12 0.053] ( < 0.018 ) ~ 0.22
BER SNEEAHETIR SWNEFEMRATAIER —RIRE 12 0.051| ( < 0.018 ) ~ 0.22
BHER SWVEFTEHK EWEER —RIRE 12 0.057] ( < 0.018 ) ~ 0.29
BHER JIEEE NI IEE B — RS 12 0.076 0.024 ~ 0.13
BHER g N EREER —RRE 12 0.31 0.024 ~ 19
BHER Eath EAB —RIRE 12 0.031] ( < 0015 ) ~ 0.075
BER nem NOmZAER —RRE 12 0.094 0.020 ~ 0.21
BHER s NOmEFERER — RS 12 0.28 0.049 ~ 1.5
BER AR EHAER —RIRE 12 0.032] ( 0.007 ) ~ 0.056
BER AR HATRAIER —RIRE 12 0.034] ( 0.008 ) ~ 0.080
BER hnZET BEMNZERCE —RRE 12 0.027] ( < 0.015 ) ~ 0.054
BHER XA EAITG) —RIRE 12 0.042] ( 0017 ) ~ 0.067
BER EEER EEERES —RRE 12 0.041] ( 0.014 ) ~ 0.15
BER Bah HEAR —RIRE 12 0.094 0.019 ~ 0.29
FER FEMREX FEHKER —ARRE 12 0.93[ ( < 0.015 ) ~ 5.1
FER FEHEEX [ELIVNE] —RIRE 12 032| ( < 0.015 ) ~ 12
FER k¥ RFETFR —RRE 12 0.055| ( < 0012 ) ~ 0.091
FES Gk mIEFER —RIRE 12 0.027| ( < 0.007 ) ~ 0.065
FER frE™ MEEIRE R —RRE 12 0.022] ( < 0.004 ) ~ ( 0.056 )
FER L EILBTRE — RS 12 0.048] ( < 0013 ) ~ 0.24
FER WET WRIRAR —RRE 12 011 ( < 0.004 ) ~ 0.22
FER mET REMREE —RIRE 12 0.081] ( 0.035 ) ~ 0.13
FER mR™ BARRER —RRE 12 0.069] ( 0.011 ) ~ 0.15
FER [EIEH HERGR —RIRE 12 0.030] ( < 0012 ) ~ 0.078
FER Ezh ERARRB —RRE 12 0.084] ( 0.032 ) ~ 0.28
TR hRX hRREERE —RIRE 12 0.12] ( < 0.05 ) ~ 0.28
RRH FEX ERRRHER —RRE 12 0.063] ( < 0.05 ) ~ ( 0.19 )
HRED PNET KEREHAE —RIRE 12 0.28] ( < 0.05 ) ~ 1.0
RRH HERX HASXEESRD —RRE 12 0.075] ( < 0.05 ) ~ 0.23
RRER pAlIIS FNREFERER — RS 12 0.076] ( < 0.006 ) ~ 0.29
EE WIEX WIEX AR —RRE 12 0.050] ( < 0.05 ) ~ ( 0.13 )
HRED BEX BERAEAEE —HRIREE 12 0.048)] ( < 0.05 ) ~ ( 011 )
RRH RBIR RARFEHFH —RRE 12 0.074] ( < 0.05 ) ~ 0.22
HRED IR ARNREINR — IR 12 0.099] ( < 0.05 ) ~ 0.20
EE NEFH REFHD —RRE 12 0.037)] ( < 0.05 ) ~ ( 0.08 )
HRED NEFH FRETE —RIRE 12 0.040)| ( < 0.05 ) ~ ( 0.10 )
EE INEFHT INEHTARED —RIRE 12 0.055| ( < 0.05 ) ~ ( 017 )
RRER EPSIE RRAMTRRER — RS 12 0.055| ( < 0.05 ) ~ ( 0.19 )
EE R BEEERRER —RIRE 12 (0.025)] ( < 0.05 ) ~ (< 0.05 )
ERIEE T T —BEE 12 0040 ( < 0015 )  ~ 0.1
BRINE [INEH)NEE EEIICE) —RRE 12 0.064] ( < 0.006 ) ~ 0.22
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mEARE miEs MEAE s | | T p T EREMEMO
#RINE  |NEHPRE PIREIE R — R 12 0.17| ( < 0017 ) ~ 0.58
#BRINE  |IBEHEER ZEAER —RRE 12 0.10[ ( < 0.03 ) ~ 0.20
#RNE  |[EERTHRE HRFATRIE R — RS 12 0.056| ( 0.027 ) ~ 0.10
#RINE  |EEET BAETHERERE —RIRE 12 0.063] ( < 0017 ) ~ 0.35
BwRNR  [FEH BINERBD —RIRE 12 0.029] ( < 0.007 ) ~ 0.066
#RINE  |&ERE BRMERARD —RRE 12 0.056] ( 0.022 ) ~ 0.13
AaRNR  [NERS NERHEFE —RIRE 12 0.037 0.0084 ~ 0.063
#wRINE  |RHH EHHERABD —RRE 12 0.038] ( 0.0074 ) ~ 0.082
EART EARH&AE —HRIREE 12 0.051] ( 0.007 ) ~ 0.13
FRHREX KB —RIRE 12 0.011)] ¢ < 0.015 ) ~ ( 0.020 )
FRHIAX BHB —RIRE 12 0.013)] ( < 0015 ) ~ ( 0.024 )
KFEH RETESKRR —RRE 12 (0.020)] ( < 0.03 ) ~ ( 0.05 )
I BILZEB —fRRE 6 0.017] ( 0.010 ) ~ 0.025
aiEh f35) —RRE 12 0.018)] ( < 0.03 ) ~ ( 0.05 )
EP S N KELB —fRRE 12 0.015)] ( < 0.03 ) ~ (< 0.03 )
tEm tRAER —RIRE 5 (0.030)] ( < 0.04 ) ~ (< 0.11 )
T IMNBRITER — RS 6 0.026)] ( < 0012 ) ~ (< 0.11 )
BHE B/HM BHE —RRE 12 0.039 0.016 ~ 0.11
BHE E i MAHR —RIRE 12 0.024 0.012 ~ 0.036
ITE0C) B F HRELRAER —RRE 12 0.045] ( < 0.016 ) ~ 0.10
ITET ELrEAT HHAER —HRIRE 12 0.10] ( < 0.020 ) ~ 0.15
[ITETCY XA™ KXRAER —RIRE 12 0.062| ( < 0.020 ) ~ 0.11
RER REH BREREWRFB —RIRE 12 0.040 0.026 ~ 0.078
RHE REHH &/ FHRAER —RIRE 12 0.097] ( < 0.06 ) ~ 0.20
RER [ 5 WKB —RIRE 12 0.047 0.026 ~ 0.10
RHE EmE® tERB —RRE 12 0.10 0.062 ~ 0.17
RER mEhTH EES] — IR 12 0.089 0.032 ~ 0.47
RHE FIRH FIE —RRE 12 0.073 0.036 ~ 0.14
It B2 1 & It B2 v 3b BB 3RIE B —HRRE 12 0.35] ( 0.05 ) ~ 1.1
Iz B IR [ R AIE R — IR 12 0.44 0.18 ~ 0.95
Iz B 1R KiEH [EESERGEEE S — RS 6 0.048| ( 0012 ) ~ 0.092
FHE R FHRE AKX TUERXATEER —RIRE 10 0.020] ( < 0.004 ) ~ 0.13
EIEED FRmhHEX ARG/ NERRIE B —RIRE 12 (0.0068)| ( < 0.004 ) ~ 0.026
FHE R FHE T EA ST X REBERERAER —RRE 12 0017 ( < 0.004 ) ~ 0.11
B2 FEhHEX BEANRMNER —RIRE 12 (0012)] ( < 0.004 ) ~ 0.071
FHE R FHRE AKX BKEZRE—NEREER —RIRE 12 (0.0048)] ( < 0.004 ) ~ 0.014
B R EMTARX JLEREIE R — RS 12 0.043| ( 0.023 ) ~ 0.10
FHE R AT BRG] —RIRE 12 0.043] ( < 0.010 ) ~ 0.096
FaRE 2 R ER/NER D —HRIREE 12 0.18 0.045 ~ 0.34
FHE R EER BEHMEHD —RRE 12 0.20 0.038 ~ 1.1
FoRE IR EENIEH BUITHRATR — RS 12 0.073| ( < 0.010 ) ~ 0.21
FHE R RS RAMRAD —RIRE 12 021 ( < 0.014 ) ~ 1.0
FHR AHEHTFRE EHEEER — RS 12 0.018] ( 0.006 ) ~ 0.033
FHE ZHEH IR BEHXFHR —RRE 12 0.038] ( < 0.0016 ) ~ 0.098
FHF 25t PG —HRIREE 12 (0.040)] ( < 0.004 ) ~ ( 0.14 )
EHE 215™h =G —RRE 12 01| (< 0.004 ) ~ 0.40
FHE ] By 7 TR EREL - —RIRE 12 0.029] ( < 0.006 ) ~ 0.065
BHE ER &R (= FHRT) —RIRE 12 0.015] ( < 0.007 ) ~ 0.031
FHE N INEBRR — RS 12 0.027] ( 0.0021 ) ~ 0.18
=ZER [EEE LtEEKEER —RRE 12 0.026] ( < 0.006 ) ~ 0.098
=88R EEE mETEESREER —RIRE 12 0.039[ ( < 0.004 ) ~ 0.13
ZER AR RIRE R NFER —RRE 12 0.032] ( 0.007 ) ~ 0.12
=88 EXa ZERRATE —RIRE 12 0.044] ( 0.010 ) ~ 0.10
FE® FERTERER —ARRE 12 0.025] ( 0.009 ) ~ 0.052
Kigth EIEEIGES) —RIRE 12 0.028] ( < 0.020 ) ~ 0.090
Rz EHFHREVA— —RRE 12 (0.042)] ( < 0.06 ) ~ ( 0.09 )
REM RER —RIRE 12 0.041] ( < 0.020 ) ~ 0.093
EEh 35 —RRE 12 0.034] ( < 0.020 ) ~ 0.085
EEn BEARTE —RIRE 12 0.038] ( < 0.020 ) ~ 0.1
BEIH BEIR —RRE 12 0.040] ( < 0.020 ) ~ 0.10
RETHRRE &R —RIRE 12 0.023 0.013 ~ 0.036
At BB A 4L BT AELBF —RRE 12 0.039 0.016 ~ 0.10
KPR X EESNG] —RIRE 12 0.12 0.051 ~ 0.27
KB FEEFX EBERERD —RRE 12 0.20] ( < 0.005 ) ~ 0.56
PNUEE[AS Bl MERR —fRRE 12 0.20] ( < 0.005 ) ~ 0.66
RHEX EWER —RRE 12 0.032 0.016 ~ 0.053
FMATH FHARRAR —RIRE 12 0.1 0.042 ~ 0.22
W PEREAE L) —RRE 12 0.026] ( < 0.004 ) ~ 0.074
L BHER —HRIREE 12 0.023] ( 0013 ) ~ 0.052
BiEhm BEMHEBER —RRE 12 0.11 0.039 ~ 0.20
wAH WAH&RAE —HRIREE 12 0.031 0.012 ~ 0.049
N NEREFRD —RRE 12 0.079 0.037 ~ 0.20
RIEHH EFPERD —HRIREE 12 0.11 0.055 ~ 0.20
EHEAT = EATHRA —RRE 12 0.11 0.061 ~ 0.16
BEE)IH BERIHhEFRE —RIRE 12 0.14 0.078 ~ 0.36
T BHFHRAD —RIRE 12 0.18 0.083 ~ 0.27
EPNTT BRETVI-B — RIS 1 0.058] ( < 0.0004 ) ~ 0.12
o B (1) VL= A# A~ —RIRE 12 0.17 0.058 ~ 0.34
#wEMRAR REAXKBER —HRIREE 12 0.050 0.013 ~ 0.21
HETHZABX AERKEER —RRE 12 0.049 0.012 ~ 0.25
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EER HWEHEX BHXKKBER —fRRE 12 0.025[ ( < 0.009 ) ~ 0.048
EER JERET I\RBEIER —RRE 12 0.048 0.0094 ~ 0.10
EER el FBATE —RIRE 12 0.022] ( 0.006 ) ~ 0.039
EEER BiATH KARFELII— —RIRE 12 0.025| ( 0011 ) ~ 0.11
EER wEm BEEMRAD —RBE 12 0.017)] ( 0.004 ) ~ 0.035
EER WA WATRATR —RRE 12 0.13 0.068 ~ 0.21
EER LT LRTERAD —RBRE 12 0.083 0.047 ~ 0.26
EER o)l pElG] —RIRE 12 0.045 0.0090 ~ 0.10
EER =00 ZEHEHD —IRBE 7 0.086 0.047 ~ 0.16
EER =eloi] ZODHEFR —ARIRE 12 0.10| 0.033 ~ 0.16
=RE =RM FAREFER —RBE 6 0.013) ( < 0.0015 ) ~ 0.053
ERE R BEHRREFRAER —ARIR R 12 0.026| ( < 0.0015 ) ~ 0.092
=RE KEH RER —RBE 12 0.041)] ( < 0.05 ) ~ ( 013 )
IR IR H RAERFT —RRIRE 12 0.016)] ( < 0.006 ) ~ ( 0.029 )
AMPLE  |[FFLE SIS TEV - —IRBE 12 0.017| ( 0.008 ) ~ 0.039
TR BT BRETRIB —ARIR R 12 (0.045)| ( < 0.023 ) ~ (< 0.4 )
BERE BEH BRESIRRERB —RBE 11 0.027)] ( < 0.005 ) ~ 0.12
BRE XFh BREXFREFRB —ARIR R 11 (0.025)] ( < 0.005 ) ~ ( 0.067 )
BRE BEm BRERSERETR —RBE 11 0.045| ( 0011 ) ~ 0.24
BRE [ BRG] —iRIBIE 12 0.013| ( < 0.0029 ) ~ 0.028
SRE RIRERIROSET  |EHEEH —IRBE 12 0.048] ( < 0.005 ) ~ 0.15
il LI R FE LT 4b X BRI/ —RIRE 12 0.034| ( 0.009 ) ~ 0.062
i LIS B#H BRENR —RBE 12 0.063) ( < 0.005 ) ~ 0.14
FEl LR i EERER —RRRE 12 0.032)] ( < 0.013 ) ~ 0.096
LER REMERX FHONERBAER —RBE 12 0.056| ( 0012 ) ~ 0.090
LR LEEHRIERR RIEFRREFAIER —ARIRE 12 0.044| ( 0012 ) ~ 0.095
LER am HENERBD —IRBE 12 0.026| ( 0014 ) ~ 0.050
LR fElh BINERR —ARIR R 12 0.018| ( < 0.007 ) ~ 0.037
LER fREm MK NER D —RBE 12 0.015| ( 0.006 ) ~ 0.030
LR RIE&H RIEBAEENFERB —ARIR R 12 0.035| ( 0.016 ) ~ 0.072
[il=]-3 TBIH TRETRFERER —IRBE 12 0.042| ( 0.010 ) ~ 0.11
[il]=]} FHbTH FHRHRDSINHEIE— —RIRE 12 0.083 0.033 ~ 0.22
[il=]-3 i FEREILEVI-B —IRBE 2 0.062 0.044 ~ 0.080
[il]=]} EEH REMNERE —ARIRLE 12 0.091 0.022 ~ 0.25
[il=} Amth AEh&HE —RIRE 12 0.14] ( 0017 ) ~ 0.58
[T [ETE [ET515] —RIRE 12 0.024)] ( 0.009 ) ~ 0.039
FNE BT EMHAKRIZAZTEVE— —RIRE 12 0.031] ( < 0017 ) ~ ( 0079 )
IS A& ABHEABD —RIRE 12 0.060] ( < 0.06 ) ~ ( 0.15 )
EFINR Rt R H&ATE —RIRE 12 0.055)] ( < 0.06 ) ~ ( 0.15 )
FER YT BEAHR —RRE 6 0.22] ( 0.023 ) ~ 0.62
FRER FHET ERZV] —RIRE 12 0.013)] ( < 0016 ) ~ 0.064
B =T FN=15] —RIRE 6 (0.0065)] ( < 0.013 ) ~ (< 0.013 )
BHE AT ARBEERE —RIRE 12 0.022] ( 0.0022 ) ~ 0.098
B E IR DET FHERTER —RRE 12 0.029] ( 0.0022 ) ~ 0.10
HEE] AT INERER [ERERIS —RIRE 12 0.13 0.051 ~ 0.41
12k R fERmEREX BB —RRE 12 0.020] ( < 0.010 ) ~ 0.047
[ [EERSEETS 2] —RIRE 12 0.026] ( 0.015 ) ~ 0.049
12k R fERHEX R —RIRE 12 0.019] ( < 0.010 ) ~ 0.049
HEED XERAH EHKRZEARRES) —RIRE 12 0.011] ( < 0.004 ) ~ 0.028
12k R BT ) —RRE 12 0.041 0.017 ~ 0.13
EER EEH EEB —HRRE 11 0.015)] ( < 0.004 ) ~ 0.084
EER FHEM pS=75] —RRE 12 0.027] ( < 0.008 ) ~ 0.066
RIGE R INBXRR —RIRE 6 0.024] ( 0.005 ) ~ 0.044
RIKR ECEH HERKAER —ARRE 6 0.027)] ( < 0.03 ) ~ ( 0.07 )
RIFR L EESEE R — RS 12 0.030[ ( < 0.004 ) ~ 0.11
EAR AT R HARAT —RRE 12 0.012] ( < 0.004 ) ~ 0.033
BAR EX3 HRARREHD —HRIREE 12 0.0099] ( < 0.003 ) ~ 0.046
KRR R FFHRERAER —RRE 12 0.012] ( 0.004 ) ~ 0.044
KRR i FERETER — RS 12 0.027| ( < 0.006 ) ~ 0.086
AHE EELH FEER R —RRE 12 (0.016) 0.0083 ~ ( 0.026 )
HIER B BT R E AR —RIRE 12 0.010[ ( < 0.0030 ) ~ 0.039
HFE IR S ED = SRET SRR IV I—F —RRE 12 0.013] ( < 0.0013 ) ~ 0.061
BERBR BREH &R —fRRE 6 0.010[ ( < 0.004 ) ~ 0.029
ERER |EET EEMRERELVI— —RRE 6 0.009] ( < 0.003 ) ~ 0.032
ERBR (BB BER —HRIREE 6 0.018] ( < 0.003 ) ~ 0.056
ERER |@msOFm BEDFEN AT —RRE 6 0.011] ( < 0.003 ) ~ 0.042
IRERIR BEHH BHEHFRAE —RIRE 12 0.035] ( < 0.006 ) ~ 0.091
SRER g™ SRR —RRE 12 0.011)] ¢ < 0.003 ) ~ (< 0.04 )
IRERIR A BERBEHRRFRBD —RIRE 12 0.013)] ( < 0.003 ) ~ ( 0.042 )
SRER EZE AR E ZE A [ % 120 1 W 14 R 5E P —RRE 12 0.039] ( < 0.004 ) ~ 0.13

@ EFHEORTAE - FEHEN. EAORKEE TRERBFTHOLZEER. ZOBEEEFENEETRRTLTS,
Q RE#HE(R/ME~RKE) ORTAHE :

- RMERERKXEOER. R FRERETH ISR [ < (Y AOKRETRE) JELTRRLTNS,
- B/MER SR K EOEN ., R TRIEULEE TRERBTHIIGEE. [ CRIERE) JELTRRLTNS,

- RIMEXFETRKRIEDEIL. JIS Z 8401(CL THIEENS . BRI F2HTELTRIRLTNS, L. MHICHITEEE FIRIEDHTETEL.
FNENTOHE R RLEL,




PHVAZ IV (EERED)

WEFRE B AEHAS s | em | o g ERELEMD
dtimiE ALRHER R EER FERED 12 0.077| ( < 0.008 ) ~ 0.17
HHRR NG RENERR FERRD 12 0.013] ( < 0.003 ) ~ 0.045
EFR EEkd BamliFRETV - FERED 12 (0.028)] ( < 0.004 ) ~ (< 05 )
EFR TeEm BHE—RERR FERED 12 0.015)] ( < 0.005 ) ~ 0.035
EFR SALER{E EBET EHET— R RR FERED 12 (0.0090)| ( < 0.004 ) ~ ( 0021 )
BERR B TEREX B FERED 12 0.023| ( < 0.008 ) ~ 0.071
BERR &N BE—RBHEAIAER FERED 12 0.28 0.13 ~ 0.56
BER BB BB FERRED 12 0025 ( < 0.005 ) ~ ( 0073 )
B/ER LWhEM INEEE)IBTA F4ERRED 12 0.021] ( < 0.006 ) ~ 0.047
TR g HA RERT FERED 12 0032 ( < 0.011 ) ~ 0.10
TR AT HAEH F4ERRED 12 0.021] ( < 0011 ) ~ 0.095
E3T] AT AT A FERRED 12 0.036[ ( < 0011 ) ~ 0.076
HARE LT ErREELEY— FERED 12 0.057 0.011 ~ 0.12
HARE EEEH RE/NFR FERED 12 0.047] ( 0.0069 ) ~ 0.15
BER i EMIEABAR F4ERRED 12 0.065 ( < 0015 ) ~ 0.18
FER FEAFPRRE BEF FERED 12 0.37] ( 0.026 ) ~ 1.3
FER FERPRRE BT FERRED 12 0.33] ( 0018 ) ~ 1.1
FER MR TREETER FERED 12 0.49 0.077 ~ 15
FER MR BIIERIER F4ERRED 12 0.14 0.017 ~ 0.51
FER MR R cpRER Ti5 FERED 12 0.22 0.022 ~ 0.56
FER MR IR 5 FERED 12 0.16 0.021 ~ 0.63
FER R J\BBBIE R FERED 12 0.10[ ( 0012 ) ~ 0.30
FER WwoiET WIERAER FERED 11 0.10[ ( < 0011 ) ~ 0.26
FNE  [RENBRE BRRBFEIRTIITH FERRED 12 0.088| ( < 0.024 ) ~ 0.18
EIIEY tEmHRX EEEX G FERED 12 0069 ( < 0.015 ) ~ 0.2
EINE S LIS KEMBIE R F4ERRED 12 027 ( < 0.05 ) ~ 0.63
FNE  |[WRAERT ERTREVA-SEE FERRED 12 0.048| ( < 0017 ) ~ 0.23
#wE)E | FEH I\BINERB FERRED 12 0.029] ( 0011 ) ~ 0.064
HinR FamdLX WER FERED 12 (0.0098)| ( < 0015 ) ~ ( 0.026 )
HinR Feh 5 FRERED 12 ©017| ¢ < 003 ) ~ ( 004 )
HBER e KI5R FERRED 12 (0.022)] ( < 0.03 ) ~ ( 0.06 )
HinR Ll BEESR FERED 12 (0.016)] ( < 003 ) ~ ( 0.03 )
HinR L EEL] FERED 12 0.015)] ( < 003 ) ~ (< 0.03 )
Y R BRERARR FERRED 12 (0.020) ( < 0.03 ) ~ ( 007 )
BHE AT RER FERRED 12 0.082 0.038 ~ 0.16
B/HE R ZER FERED 12 0.090 0.051 ~ 0.14
RER & [GENC] FERED 12 0.041 0.019 ~ 0.074
EHR AHTHEMER EhmR FERED 12 0.064| ( < 0.0016 ) ~ 0.17
BHE ATHEMEX BKDNERRD FERED 12 0.074| ( < 0.0016 ) ~ 0.20
BHE EX:FH FHETRFETR FERED 12 0.022 0.0037 ~ 0.089
BHE - RiETH A FERED 12 0.11] ¢ 0.0022 ) ~ 0.50
=ER EEEE ZRNERAER FERED 12 0.036] ( < 0.004 ) ~ 0.081
HER #mth KFEFHIMEVE— F4ERRED 12 0.046] ( < 0.020 ) ~ 0.15
SRERRT RERTFX EFEREEETIA— FERRED 12 0.031 0.011 ~ 0071
KBRRF KERTRIER FRINERR FERED 12 011] ¢ < 0.005 ) ~ 0.43
KBRFF KRERTTHERE BBINERRB FERED 12 01| ( < 0.005 ) ~ 0.34
KBRRF BB ¥R FERED 12 0.15 0.021 ~ 0.39
KBRRF KRKEN KRKENRAB FERED 12 0.14 0.044 ~ 0.21
EER HEHEER EERBASAER FERRED 12 0.063 0013 ~ 042
EER R THE HERTAER FERRD 12 0.040 0.012 ~ 0.19
EER L BIFFR FERED 12 0.051 0.015 ~ 0.080
EER i ] FERRED 20 0.25 0.0092 ~ i1
=RE KA AR LERFNF KIS F4ERRED 12 (0.056)| ( < 0.06 ) ~ 0.22
HMWLR  |[HET HEATHNSARER FERRD 12 0.045)] ( < 0023 ) ~ < 04 )
BRR [N I xMED F4ERRED 12 0.025] ( 0.0047 ) ~ 0.047
FEILLIR FE LA X R/ FERED 12 0.057 0.015 ~ 0.11
FEILLIR B WILRB FERED 12 0.80 0.14 ~ 28
FEILLIR B EELL) FRERED 12 0.080[ ( < 0.005 ) ~ 0.33
FEILLIR B BER FERED 12 058 ( < 0.004 ) ~ 5.9
[T A ZERGHE FERRED 12 0.065[ ( < 0.005 ) ~ 0.15
FEILLIR EHH BHEAKEER FERED 12 0.031)] ( < 0.013 ) ~ ( 0.085 )
FEILLIR 30 EERKAER FERED 12, 0.015)| ( < 0.013 ) ~ (< 0.05 )
LER RS [CETEZE FERRD 12 0.039] ( 0015 ) ~ 0.061
LER A BRINERR FERRD 12 0.029 0.0062 ~ 0.067
LBER TR HRERR FERED 11 0.045[ ( 0.016 ) ~ 0.080
LER PG KRR AER FERRD 12 0.94 0.028 ~ 37
LBER R BN EHET BREERE FERRD 12 0.043| ( 0019 ) ~ 0.093
L] IR xiBB FERRD 12 0.049 0.022 ~ 0077
EBR AREF AR SHT EA-T5) FERRD 12 0.034] ( 0014 ) ~ 0.060
IS IR BEER FERED 12, 0.046)| ( < 0.06 ) ~ ( 0.14 )
IS F )| B8 E SHT EBR&ER FERED 12 0.059)] ( < 0.06 ) ~ ( 0.19 )
EiER FiEiET R IR EAEAT FERED 12 012 ( < 0.016 ) ~ 0.82
EiER 177 ZRHARTET WAT—RBHEAKRBAER FERED 12, 0.33 0.033 ~ 1.2
RS FEAMTHERR AR FERED 12 0.13 0.035 ~ 0.29
RS FEAmmNEER  [dEAMEBRES FERED 12, 0.24 0.05 ~ 0.67
RS HEH EEEBYERLYI— FERED 12 (0.029) 0.019 ~ 0.052
KR FrEm FREILHARE F4ERRED 12 (0.014)] ( 0.007 ) ~ 0.024
iR B JLEREZ R BT FERED 12 0.021] ( 0.0015 ) ~ 0.061

O FFHBEORTHE | FFHEN. FAORKRETRERBTHLERE. ZOEEEFMELTRRLTD,
@ RE#HE (R/ME~ZKE) ORRAE :

- B/MERBRAMEOEN. B TFRIERBTHIIHEE. [ <GEZLAMRETRE) JELTRTELTVS,
s B/MERBRAMEOEN. B FREULEETRERFBTHLBEE. [ GAIEMB) JELTRTRLTNS,
- B/MERFRAEDEIR. JIS Z 8401 THIBZAS . BRIHFHELTRRLTNG, L, BMICHITEEE TREMHTETEL.

ENIDTOHI>RRLEL.
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BERRS i A A L e g BB
itiEE HLIRH P RK EAET=E35) 12 0.098] ( < 0.008 ) ~ 0.36
JtimE ET i) 12 0.031] ( < 0.007 ) ~ 0.11
itiEE Feh NEEIER 12 0.16 0.072 ~ 0.29
EFR —mm —EHm=RER 11 (0.015)] ( < 0.008 ) ~ 0.045
=EHE WEHERR iER 12 0.026] ( < 0.008 ) ~ 0.066
=R WETRE WER 4 0.048| ( 0.025 ) ~ 0.11
=EHE & ETH 2WMBEBHEFHITREER 12 0.13 0.038 ~ 0.21
AR BFH BFEHR 12 0.039[ ( 0.005 ) ~ 0.088
ET S T 12 0.056] ( < 0011 ) ~ 0.29
WmARR WmAT AR E R B 12 0.060[ ( < 0012 ) ~ 0.15
HER R FRIBEER 6 0033 ( < 0.003 ) ~ 0.15
BER SWVEmER ZHREHEER 12 0053[ ( < 0.018 ) ~ 0.17
BER =it EmmitERHR 12 0.076] ( < 0015 ) ~ 0.17
BER LD FHEZXABHR 12 0.032] ( < 0015 ) ~ 0.053
FER FEHPRR FEMEKR(BH) 12 0.44] ( 0.020 ) ~ 0.94
FER FEHERIK BEHABBHEHRHTA 12 0.46[ ( 0.030 ) ~ 13
EtT FRERX BLEAXERBER 12 0.096[ ( 0.007 ) ~ 0.35
] IRE REEBRBEFRH 12 0.12] ( < 0.05 ) ~ 0.32
EtT PN BLtEMMEEEDERTAAER 12 0.095[ ( < 0.006 ) ~ 0.47
R HEAX B/GED/\ELE 12 0.075[ ( < 0.05 ) ~ ( 0.16 )
EEEII BEMETR T REER 12 0047| ( < 0015 ) ~ 0.12
#wRNE  [BETFER FEREXRZERRB 12 0.045] ( < 0.024 ) ~ 0.12
EEIN T X it EBIER 12 042 ¢ 0.10 ) ~ 0.94
RN FiFEH WENERR 12 0,031 ¢ 0.009 ) ~ 0.084
FRR FRTERX BiRB 12 0.013)] ( < 0015 ) ~ ( 0.026 )
HiRR R EEEET] 12 0037 ( < 0.03 ) ~ 0.14
BN Hamm [BrmaER 6 ©026)[ ( < 001z )~ < 011 )
BHE 'Hm BHEHD 12 0.072 0.059 ~ 0.12
[ETEY B RF EFEBHEHTAR 12 0.056] ( < 0016 ) ~ 0.11
WERER B EEEEEESP] 12 0.060[ ( < 0.016 ) ~ 0.14
EHR REH BMERR 12 0092 ( < 0.06 ) ~ ( 0.19 )
RHR AT WAEXZERB 12 0.11 0.051 ~ 0.24
FHER BETHEKR B BAIER 12 (0.012)f ¢ < 0.004 ) ~ 0.054
FER EMTRX R-25TRIER 12 0.065| ( 0.035 ) ~ 0.16
FHER =Bt BH=8R 12 o1 ( < 0.007 ) ~ 0.27
BHR BEEMILR ETFKERILEERB 12 0.0076] ( < 0.0016 ) ~ 0.062
FHR £EHEBHAR 2LETERERGS 12 0.034] ( < 0.0016 ) ~ 0.10
BHR 21t Y] 12 0.019)] ¢ < 0.004 ) ~ ( 0.12 )
FHR FE W T R EXKBER 12 0.033] ( 0.007 ) ~ 0.067
BRI fiR™ FRiRT&ATR 12 0,015 ( 0.0052 ) ~ 0.041
FHR BEREBREH REBBEHTRAER 12 0.026] ( < 0.005 ) ~ 0.053
ZER ST EE235 12 0.049] ( 0016 ) ~ 0.17
HER B BHERER 12 0.041] ( < 0.020 ) ~ 0.10
RORAF RHRE FERARB 12 0.054] 0.021 ~ 0.14
KBRFF WA WA SHLFH 12 0.021)f ¢ < 0.004 ) ~ 0.051
RORAF J\ET XFER 12 0.070] 0.039 ~ 0.11
KBRFF EPNTTH BEHEREEVS-B 12 0.051] ( < 0.0005 ) ~ 0.11
RORAF o 5B ) 2% PO R B 3K B IR BT R GE B 12 0.18 0.067 ~ 0.50
EER BWREHRER EEEEERTRIC] 12 0.045 0.010 ~ 0.12
EER AR HEKX TKEBEAER 12 0.074] ( 0011 ) ~ 0.52
EER wmEm B#R 12 0.017)] ( 0.005 ) ~ 0.041
REER EEM BINNER 12 0.064] 0.035 ~ 0.12
ZRE BEM BHERR 12 (0.048)[ ( < 0.06 ) ~ ( 0.15 )
MILER  [HHT IR HBHHE A EB AR e 12 (0.048)] ( < 0.030 ) ~ (< 04 )
BIE BEh KR ERRB BA3: 11 0.027)f ¢ < 0.005 ) ~ ( 0.065 )
REUR KFH KRFHEAEID 11 0.028] ( < 0.006 ) ~ ( 0.080 )
BIRR HIH FEEEEETE] 12 0.016[ ( < 0.0029 ) ~ 0.029
& LR HDEE R BAT REXKAER 12 (0.038)] ( < 0013 ) ~ ( 0.092 )
L8R LBHEE HARWLEER 12 0.044 ( 0017 ) ~ 0.070
EER ZRM ZRERETR 12 0.039[ ( 0.021 ) ~ 0.075
T meh BHEER 12 (0.025)] ( < 0.0022 ) ~ 0.050
EEIR BT ST 5 (0.0065)[ ( < 0013 ) ~ (< 0013 )
EER FEAME/BRR  |FEARRAIER 12 0.23 0.034 ~ 0.76
EEES BEHTERK ) 5 0.026 ( 0018 ) ~ 0.050
EER B EREEET FEEER 12 0.049 0.018 ~ ( 0.11 )
EER EEH EER 11 0.089] ( < 0.009 ) ~ 0.17
RIGR RIgH RIBEH P RIEEEDHEFHTAEER HE 6 0.024] ( 0.006 ) ~ 0.036
RIGR EELH EE34 SR RET B ATERD e 6 0.052] ( < 0.03 ) ~ 0.11
RIGR ®ET EiE S RRBEERREI BB 6 018 ( < 0.03 ) ~ 0.30
REAR REAT™ JKERT B il 12 0.011] € < 0.003 ) ~ 0.036
AR REATh KA R i 12 0.013[ ( 0.0030 ) ~ 0.034
KRR BIFF JLER#RY T e 12 0037 ( < 0.006 ) ~ 0.21
BERER EEINH EEIINR RE 6 0011 ( < 0.003 ) ~ 0.040
ERBR [ARW BR e 6 0.013[ ( 0.003 ) ~ 0.039
hHBIR hHEH HIER HE 12 0.013)f ¢ < 0.003 ) ~ (< 0.04 )

O FEHEORTHE - FEHEN. FAORARETRIERBETHLIHEE. ZOEEFMEETRRLTS,
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